PC WIRE

Standard Grade, Nominal | Diameter | Nominal Nominal Mass Tensile Load Yield Load Indent Elon- | Reverse | Max. Max. %Relaxation (1,000 Hrs) | Remark
Steel Diameter | Tolerance | Section | Mass Tolerance Depth gation | Bending | Straight- Initial Load
Name Area (kN) (kN) (mm) ness of Tensile Load
(mm) (mm) :.E.:Nu (g/m) (Min) (Max)| 0.1% 0.2% | (Min) (Max)| (%) (Time) | (mm) 60% T0% 80%
1670 4 12.6 98.9 LB 21.0 7.5 17.9
1770 4 12.6 98.9 223 18.5 19.0
1670 5 19.6 154 S 272 | 278
= 1770 5 19.6 154 R 34.7 28.8 295 o) K20
m 1670 6 28.3 222 £3.7 47.3 39.3 40.2
= 1770 6 28.3 222 50.1 41.6 42.6 1.0 215 4.5 Relax 2
m 1570 7 38.5 302 42 60.4 50.1 51.3 S5 2 30 4.5 8.0 12.0 Relax 1
4] 1670 7 38.5 302 64.3 53.4 547 0.10 025
2] 1570 8 50.3 395 £5.9 79.0 65.6 67.1
E 1670 8 50.3 395 3 84.0 69.7 714
1470 9 63.6 499 =il 93.5 74.8 76.7
1470 10 78.5 617 £ 8.6 115 923 943 | 0.15 0.25
1570 10 78.5 617 123 98.6 101
Y1570C 7.0 38.5 300.7 + 2% 60.4 69.5 53.2
4.0 12.6 98.4 21.0 242 18.5
o 5.0 19.6 153.1 327  37.6 | 28.8
m $ES70G 6.0 28.3 221.0 =25 473 544 | 41.6
m 7.0 38.5 300.7 64.3 73.9 56.6 3.5 3 25 2.5 4.5
ﬁ 4.0 12.6 98.4 223 | 256 19.6
= Y1770C 5.0 19.6 153.1 + 2% 347 399 | 305
6.0 28.3 221.0 50.1 57.6 | 44.1
Y 1860C 5.0 19.6 153.1 + 2% 36.5  42.0 | 32.5
a Deformed 4.00 +0.04 12:57 98.7 21.1 18.6 3.5
ﬂ Wire 5.00 19.64 154 31.9 27.9 4.0
m SWPDIN 6.00 +0.05 28.27 222 44.1 38.7 ’ 235 Relax 2
o SWPDIL 7.00 38.48 302 58.3 51.0 8.0 Relax 1
M 8.00 +0.06 50.27 395 74.0 64.2 4.5
- 9.00 63.62 499 90.2 78.0
1670 4.00 12.6 98.9 £2.0 21.0 17.5 17.9
1770 4.00 12.6 98.9 223 18.5 19.0 008 0.16
W 1670 5.00 19.6 154 S 327 272 1| -27:8
o 1770 5.00 19.6 154 34.7 28.8 295
m 1670 6.00 28.3 222 37 47.3 39.3  40.2 1.0 2.0 3.0 Relax 2
= 1770 6.00 28.3 222 50.1 41.6 426 3.5 30 3:5 6.5 10.0 Relax 1
& 1570 7.00 38.5 302 +4.3 60.4 50.1 51.3 0.11 0.19
W 1470 8.00 50.3 395 72.9 60.5 62.0
- 1570 8.00 50.3 395 +59 79.0 65.6 67.1
1670 8.00 50.3 395 84.0 69.7 71.4
1470 9.00 63.6 499 D 93.5 74.8 76.7 | 0.10 0.20
= 1% Ext.
= 4.88 18.70 | 146.82 32.26 27.40 =
o 4.98 19.48 152.90 33.60 28.54 -5
= 6.35 b e Tl e 52.41 44.56 3
g 7.01 38.59 | 302.97 62.52 53.14 4.0 = 25 3.5
= 4.98 19.48 152.90 32.24 27.41 w
5 6.35 BA + (.05 31.67 248.60 52.41 44.56 o
< | 70 38.59 [ 302,97 62.52 5314 °




